Rajasthanjobportal.com”

N,
Rajasthan REET 2023 Question Paper 25 Feb 2023 2nd Shift

137 : T
A f « LA

QUESTION BOOKLET ey (i
EE. b E e
E. e
g 5 93T 1 HEA / Number of | gt # wvs o S g M
Pages in Booklet : 16 "-‘ . umoer of S MY
#ﬁg 00 ct : - Questions in Booklet : | 50 55’ o
. ; e ——— e & =
¥79 / Time : 2—;—- &< / Hours | 1% / Maximum Marks : 300 S —
N
WM R R @@ e e ————————
= 1 19 % gl 9 FT 1 / Do not open this question booklet until you are asked to do so.

» s <_INSTRUCTIONS -
» Flease correctly fill your Roll Number in O.M.R Slieﬂétméé_fd‘iaﬁféﬂiﬁﬁlﬁ " ’
¢ e VLK . themself be responsible for filling wrong Roll No.
2. At the start of the examination before attempting the question paper kindly check your cfuestfon booklet a%d OMgR Answer

Sheet and ensure that ;
* The serial numbers of question booklet and OMR answer sheet are same.

* All pages of question booklet and OMR answer sheet are ' '
& properly printed. All questions from S.No. 1 to last S.No. 150
are printed and pages from S.No. 1 to last S. No. 16 are there in );h% question bqooklet.
In case of an;tf discrepancy / defect the cand1dat§ should immediately report the matter to the invigilator for replacement of
question booklet and OMR answer sheet. No claim / objection in this regard will be entertained after five minutes of start of

examination. Candidate will be liable for it.

3. Answer all questions.

. All questions carry equal marks.
. Only one answer is to be given for each question.

[f more than one answers are marked, it would be treated as WIrong answer.
y as (A), (B), (C), (D). You have to darken only one circle or

4

5

6.

7. Each question has four alternative responses marked seriall \LS
g using BLUE BALL POINT PEN. P
9.

bubble indicating the correct answer on the Answer Sheet |
I/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorreciiz = ol b=

answer or more than one answers for any question). i
Use of Mobile Phone/Bluetooth Devices or any other electronic gadget in the examination hall is strictly prohibited. I
|

.“.--_'

| or

" m—— PE——

any such prohibited material found with any candidate, strict action will be taken against him/her as per rule.
10. If there is any sort of ambiguity/mistake either of printing or factual nature in Hindi and English Version of the question,

the English Version will be treated as standard.
Warning : If a candidate is found copying or if any unauthorized material is found in his/her possession, F.I.R. would be

lodged against him/her in the Police Station and he/she would liable to be prosecuted under Section 3 of the State Prevention
of Unfair means Act, 1992 and Board Regulations. Board may also debar him/her permanently from all future examinations

P >
1. a1 Y Vel TG SHLUA.HR. 5 I HEaLHl Jes G819 | Tofd e T 939 X qdenedf @ saeardt €
2. ¥99-UF & HIA 9 Yo gar g gd € 9e-u gRA%T U S.QH.ST. TGS B Well-Hif Aa BT gz Griad & o

*  gs9-uF gRa®T U4 O7.QH. S, IT9AS & HHID U6 G9H ¢ |
* ye-uF gRAET U4 S.0H.SX. IAR9E & g1 Y86 e BY §U F I V-9 § 997 €. 1 9 s1fq #1150 T @ 99 A

gt & ud @il J% #HER 1 § 16 T% 4G 81 |

frdlT ot wepre &1 fa@er €19 a1 S9qul 89 9T W99 ket Td 8. TH. 3. I T g TBrer it @ i &1 o | wfter
YR B % 5 fe & gvarq udt Rafy # fed @@/ emafa 9T AIS faa TE fhar sae) sed waw frderdr et @ anf
3. ® gl & Il afql

4. T wsHl & HH GIH | | |

5. Y% g9q F1 Had Udh & IdT aifad| -

6. UF Q arfrd 3T 4 B g9 ¥ Y97 & IAX Bl Tedd {AT A |
7. Y% 99 & 91 d%ieqds sax f&d w4 €, fore A (A), (B), (C), (D)Gﬁﬁmwﬁlmﬁﬁﬁﬁmﬁﬁqmﬂm

¥ Fae UF T AYG q6 & SA-9AE T Al qld Qe G Y TET H &
e TTerd IO 1 999 o &1 1/3 9T BT S| T I W A9 A IO A1 PRl 99 % 0% ¥ ey ger @ &)

8.

9, TarEa

gy faerdt & O 98 faeg 91 g FEEEE 3 FrdarEt e s
10. wﬁﬁﬁzﬁmwﬁiﬁaﬁ@erﬁaﬁmﬁﬁﬁﬁ#rma%aﬁs‘gawmawmma%g&ﬁmgsamdﬂvﬁmwmmu
Srfgd /I OIS Wil &, 3w arelt & farew gRvg ¥ wraEy

A ¢ 7T B3 YT THA B YHST AT & 91 IS U9 § FId
o TS S SN U Sgfaa el @ dam aifufia, 1992&%3@#%@%%%%@#%@3%#@

argelt Y wiasy d &4 91l 91 @Y gue ghansi @ fyaffa &1 gwar &
P3] $§ 1 [ Contd...




Rajasthanjobportal.com"

W i iasthan 1s
The oldest (First) National Park in Rajastha

. Hills
(B) Mukundara
(A) Ranthambore (D) Sariska

Keolad _
m(c) WC%;—;E e (Fe) TEA S ¢ ’
(A) TR () eu e
(C) %ama Y () wfee

aharao
Which State sent military help to Kota Maha
during the freedom struggle of 18577

(A) Jhalawar (B) Jaipur
(C) Bundi (D) Karauli 2
1857 % w=ET GT % GG Bl TETE Bl e
¥ fru e T 3 AP werar Wl 7
(A) AT (B) W@ 7
©) - (D) &N ¢
3 A D A E -
(A) TRY - qHaTET~ (B) TAGHE — WAarst
(C) &0 - FEEE (D) F - Ad
4 The pair of districts having Red and Yellow Soils, is-
(A) Pali - Jodhpur (B) Kota - Bundi
(C) Ajmer - Sirohi (D) Alwar - Bharatpur
Te faen g 7T o g Qe 9a7 9 A @ -
(A) T - U (B) AR 7
(C) ¥R - fA0d~ (D) TR — AW
5 The fort that has trenches all around it is called
fort.
(A) Paridhi (B) Dhanvan
(C) Eran (D) Parikh
% g Rreds ol @ o & 7
Heardr Bl
(A) Wiy (B) ¥
(C) e (D) ot~
® At which place in Rajasthan Tree Festival is
celebrated on 12! September every year?
(A) Khejadli (B) Bilara
(C) Mandore (D) Phalodi
T # fovw e o sty o 12 R 2 ‘g ver
TG e & 7
© wen (D) weird)
@ ‘¢awwwE T E -
(A) v e  (B) e fr
(©) werdr o S (D) e g
8 \r:;Irlr?:g:?f the following ceremony is related to
(A) Panghat pooj y
© Adopion (B) i
P 3 8 o e e P @ 3 7
(4) ‘e o ®) frms
©) Mz A (D) wrgen
1P3 $

9

10

14

rs to which fort of Rajagy,
(B) Gagron
(D) Jaisalmer

4 (B) A

(A) e STt

O (D)

Which of the following palace is also Know,
Chhitar Palace? . :
(A) Rambagh Palace, Jaipur

(B) Decg Palace, Bharatpur

(C) Ummaid Bhawan Palace, Jodhpur

(D) Gajner Palace, Bikaner

P & A B A1 RIS BT AT & T F o g

(A) THEF Joid, FAgT

(B) & A, WYL

() W W der, Stege”
(D) TR AR, RBAT

Who became the ruler of Marwar on 51 June, |3,
after the death of Rao Ganga?

(A) Jaswant Singh (B) Maldeo

(C) Viramdev (D) Sataidev

T MM B gg & qE, S A 1531 §. § Anam @
9ITES B 1 7

'Suvarnagiri' refe
(A) Jalore
(C) Abu

‘Wﬁﬁ’

an?

¥

(A) wHdaris (B) wWieRg
(C) g (D) HraerRa
@ Fr wImR Lt ad-ad amer TER W @l
(A) & FHeerd (B) z@dfd frwa
(C) Tie=ma mew (D) ST TR
13

What is common in Jhadol (Udaipur), Kurada

(Nagaure), Sabania (Bikaner) and Nandlalpura
(Jaipur)?

(A) Centre of stone age

(B) Centre of neolithic culture

(©) Stpre of copper implements

(D) Discovery of minor stone implements

TN (STA), T (), raern (@0,
TGN (A ¥ o gy 7

(A) 9T g 7 g

(B) TEur N wepfy F A

(C) qm BTN & :‘gt? =7

(D) WY NI IUHTH A ey

Which oilseed cro

soil like pulses?
(A) Til

P increases the nitrogen level in the

(©) é?roundnut gg; l(\:/la:st?arrd
&9 8 Rreaed wue oy : @t
& el & Tl & T g & AFE
(A) fow 3 (B

. ) oresY
©) Frod D) el v
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le life expectancy at birth in 2013-17 e
The ma
}5 Rajasthag u:; K s
(A) Zg‘g ieal‘s (D) 66.3 years aﬁ i
-(:a)wﬁ.ff 2013-17 A o 9T gou qj;‘q T
70.9 a9 (B) 68.5
g 66.8 (D) 66.3
ich of the following is not a non-conventional
(6 Which 8
source of en rg.,) | - S

(€) \\rmdﬁc%er%q o o @ AT T o
37
:[i%‘ il (B) Srafagasied
o s O rwre 7
@) drawia T F G T A
(C) aRWL (D) % &

On which part of the body is Chuni and Bari worn

18
in Rajasthan?
(A) Nose (B) Head
(C) Ear (D) Feet
Wﬁﬁ@?ﬂaﬁ%%ﬁmwuﬁ
T &
(A) T/ B) R
(C) e~ (D) Wi o

Y3’ Which one of the following is not related to
Kalibangan civilization?
(A) Fortification
(B) Fire altars
(C) Mud brick's houses
£D) Tools of iron

MHH § 31 |1 UE BT gRdl § gty Tel s ?
(A) i . ry
(B) #irgve

(€) Tt %1 431 % mx

(D) #% % Tysy.—

20 Maharaja Man Sina
v tér?)m an Singh I got the art of Meenakari. in |
i i
© Girs ) Bews
T A ) Balochistan
'ﬁi"“m'i' B A ETO e O RATS
x g T oy
EA) vig i (B) e |
C)
T o D) =gfawm
IP3 ] S

21

24

25

»

Which one of the following district has the lowest
S.T. sex ratio according to 2011 census?

(A) Hanumangarh (B) Bikaner

(C) Karauli (D) Jaisalmer

freifthd ¥ 4 @ @ Rast § 2011 &l S0 &6 SFER
ug. 8. &1 gAan femgard frerdr & 7
(A) &S (B) €T
(C) wHUen (D) SrE

ey weroliert ¥ A 9T ol fsior =Y ® 7

A) HaTere T (B) THuraitE Tegiied
(C) gorirest wmafar (D) faomas gan

The 'Arjun' tree is mainly found 1n district.
(A) Jhalawar (B) Jaipur

(C) Jalore (D) Jaisalmer

‘e BT g wIE B9 H et o Tireram 1
(A) HAES (B) w1agY

(C) WA/ (D) SEeHT

Which district receives the vertical sun rays in the

month of June?
(B) Banswara

(C) Pali (D) Jaipur

For Pl o e § g 1 Pl Gl | T
qSdl ¢ 7

(A) HrerareT B) agare/
(C) ¥ (D) SHEYX

Where is the Kaila Devi Temple situated?
(A) Alwar (B) Karauli

(C) Dhaulpur (D) Kota

T AT BT AET BEl R § 7

(A) &R (B) &Ual”

(C) €@y (D) @I

Madaar Dam was built on river.
(A) Som (B) Mahi

(C) Sabarmati (D) Berach

TER 91 T YT T T4 AT
(A) &9 (B) =&

(C) " (D) =4

Which organisation established Putri Pathshala and
Kabir Pathshala for the education of girls and
untouchables in Bikaner region?

(A) Bikaner Rajya Praja Parishad

(B) Maheshwari Yuva Mandal

(C) Sarvahitkarini Sabha

(D) Bikaner Prajamandal

AT & ¥ wefeal ok orgal @ firan ¥ few dwen
A G s ol wER wraeTEr @i & ?

(A) SFHEMT oY Jolr 9wg

(B) wreeerdt gan Avsw

(C) wafeqamirol g

(D) €T gemsd
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i 28  Alibakshi Khayal is the prevalent folk drama of which | 34 o fﬁ'{’l‘é"f (B) e
T Ot @ o
(C) Kota 12 My A e e | 35 e O Aid
s e T & H § & A T (A) g ~ (B) BT ¢
| s’&:ﬁ %e{;m/ P (“:{) (C) T @ (D) w1y
f EC)) aﬁa(w (D) fadigy Te 36 x})]era{ is: It’unchi or Pomzlégeuﬁ?éery worm?
| ris
? U D) N
| 29 Panna Dhai saved the life of : (C) Neck | (D) Nose
(A) Rana Udai Singh (B) Rana Raj Singlf——| q_\??[ (q;”lﬁ}'f) g1 O ST D'l &A1 1a § 7
(C) Rana Sanga (D) Raval Ratan Sin‘gﬁ (A) ?-EFIT?E/ (B) U Y
(A) Tom ITEkis < (B) TOM TS .
O T 0 vy |7 o e lovhe s 32 v
™ ra '
Delhi-V (A) Masurdi (B) Jakham
@ thio::ghadc}dam G;eizzfiiid Expres;sway does nqt-pass (©) I‘(antali (D) Sabi
(A) Jaipur (B) Kota = Fr & & & 9 Tore | aTie 1 4 o
(C) Alwar (D) Dausa ™ Tel & 7
- ﬁﬁﬁ—a;ﬁm PIELIER Gt Rerdiaef| (A o (B) EH -~
/ 4 (ﬁ’)‘*‘w" N (C) ieh (D) W
(B) @iz .
CalE LB L (D) 2 |38 T ERT 0 ergandt S i st g i
™ BT Y ?

Rajasthan? / '
' C) 9% gurem ST
(A) Red-yellow (B) Red-loamy @L ) (D) N/

(C) Red-sandy (D) Brown-s = Head of the Garasi o
. -sandy arasiya tribe is known as -
TR | M332 &) suiafy 3 — (A) Gameti
AR B ‘
topha R i B ) Sahlot
© w0 T A) Mg S FEI § -
(D) *—tiveir — = (C) et & (B) wmq Y?
32 The tree from which Kattha' is ext 3 3@ : & T
Eg s (B) S:alarm’ztEd el - Qccgdmg t0 the Prashasnik Prativedan 2021-2
Khe;j : ¢ Departm . i
O O K S| e of o R, e
(A) ST &, & — o Ry In the state are -
(€) @y (B) e Ay %szﬁ[l & Sy gamraf wiae 2020
| (D) @r~ (N (A) 27 T TSy e 8 -
' B
@ l‘?l’h(l;lhal::ll;r of Jaipur built the Sheetla MatatTelnp] (C). = ED; 32
(A) Mahajl'aja Man Q; mnp e |41 Shrl Mathkﬂr Gupta.ls . ]c
(B) Maharaja 1gh g LOY (A) State Informatjop, Cwﬁrk!ng on the post 0
(C) Maharaja Mad}?n < (B) State Election ¢ GMr{nssloner,-Ra_]asthﬂﬂ
(D) Sawai Jaj Sin hD Singh - (C) Chief Secretary %mmlssnoner, Kajastinn
Wa’:ﬁ‘ﬁﬁ 3m§ ¥ ™ (D) Chairman of ’St Ovel‘n_ment of Rajasth_aﬂ_ﬂ
(A) WWT"& thw‘rﬁarﬁw‘? oy Rajasthan e Finance Commiss
(B) werma TR ' AY&HT TS &y
(C) Wﬁm (A) T gaey ool g
(D) ¥ wrafe (B) 1o Rrafesy oo (IR
[P ’ ©) Ter wfg mﬂ%m, T
31§ (D) . o Rt sy 3. a:;zr(
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which Article of the Indian Constitution states that

the Governor of a State shall be appointed by the
President by warrant?

@

What is the full form of ECCE according to
NEP 20207

(A) Educational Care for Childhood Evaluation
(B) Early Care for Childhood Education

(C) Early Childhood Care and Education

(D) Educational Classes for Childhood Evaluation

NEP 2020 % &g8R ECCE &1 qui &Y &y & ?
(A) T & qedi & fWe e davme
(B) arearawdl @ fre & g aifve S
(C) Wi\ STeareaee TEHTe ST firem

(D) TRl & qedich & fod Qe wend

Under Indira Gandhi Shahri Rojgar Guarantee
Scheme, age limit criteria for the beneficiary is -
(A) 18 to 60 years (B) 18 to 62 years
(C) 18 to 50 years (D) 16 to 55 years

e e Qe ST T AT & agd arHit &t

g W Tl TS ® -
(A) 1860 af—~ (B) 18F 62af/
(C) 189 50 a9 (D) 16 & 55 9§

As per the Rajasthan RTE Rule 2011, reimbursement
will be made twice a year directly to the

(A) School

(B) Block Education Ofticer

(C) Local Authority

(D) Principal |
TS RTE fram 2011 % orgart, whgfd ad &
IR 9y Sl i ST |

(A) Taameg

(B) wvs fyrem el

(C) @M wIiren o

(D) vrard

46 Mukhyamantri Baal Gopal Yojana is related to which

one of the following?

(A) Vaccination

(B) Free pre-elementary education
(C) Free uniform distribution

(D) Milk distribution in school

@ qre Tvare A fretatad § 8 e
e & 2

A) wmor

(B) fy:green wrehwres farem (™

obportal.com”

47 In October, 2022 an MOU was signed between Coal

India and Rajasthan Vidyut Utpadan Nigam for

setting up a solar plant at :

(A) Nokh, Jaisalmer (B) Sitapura, Jaipur

(C) Pugal, Bikaner (D) Phalodi, Jodhpur
HGW{G!T, 2022 ¥ siq fear ud e fqgd S
Y rm % dra

gﬁ*ﬁ T HEICT S99
T""‘{(A) :ﬁ-@. ﬁ'ﬂﬁ"?ﬂk

t...__|(C) e, dibr/”

qT sEner fopd T

(B) drarg, Ayt
(D) WeEl, SHEYT

4§\] Central Cattle Breeding Farm is situated at

(A) Suratgarh (B) Bassi
"'“'l(C) Jobner (D) Bharatpur
Y )t QU WoTT HTH g g 21
Q(A) AT (B) &’
(O s ¢ (D) T

42\] In which district was the Abhaneri Festival organised?
(A) Dausa (B) Alwar

H(C) Ajmer (D) Chittorgarh

ST S e Rt o R Tt a2

L¢y(A) qrET— (B) ar@ax
e=f(C) STTHY (D) TadrsTe
-

50~~{Who can verify the enrollment of the children before

(“\Jmaking the final reimbursement of the primary
school?

~-{(A) Block Elementary Education Officer

(Yy(B) Head Master of the School

((3(C) Principal |

«(D) Education Minister of the State

forerfiyep ferameral @t stfom wiayfd # 0 & ved a=i F
s T BT TATIA DI BT & 7

(\J(A) @vs URETE Rre st ~

5f<1" When was the National Institute of Adult Education
= established?

(C) g o<t faa™
(D) wper & gu fawor~”

P3] g

—1(A) 1993 (B) 1992

(N©) 1990 (D) 1991
E Wie farar Her (NIAE) &Y @ &y &8 ?
(A) 1993 ¥ (B) 1992 ¥
(C) 1990 ¥ (D) 1991 &

[ Contd._.
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53 Apurvi Chandela is famous player of

@ On which date, was the New Rural Tourism Pol_icy

55

P3|
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mme
Petitis Ruminants Control Progra

(PPR-CP) is - S
(A) a UNESCO programme 10

malnutrition

(B) an integrated weed manag L
inati ¢ for animais
a vaccination programil |
e ; vention of

(D) a vaccination programme for I!1e pre
genetic disease occuring in children

ﬂé—%&ﬁﬁaaﬁﬁwmﬂww

ement programme

(C) ugpa & faq et HRHTL~ _
(D) =t § anafers Al B Tepa &g dd
HTAHH y |

(B) Badminton
(D) Athletics

(A) Shot put
(C) Rifle shooting

3gal deen & s Raarsr ¥
(A) el Y (B) ssficT e
(C) WEHa s~ (D) wudicady”

1

of Rajasthan implemented?
(A) 24t November, 2022
(B) 12t December, 2022
(C) 10% November, 2022
(D) 4% September, 2022

ferg o1 & TroreaT &1 75 JTHIoT gde ifd args & 7
(A) 24 gt 2022 |
(B) 12 fem=y, 2022 ~

(C) 10 Fgwz, 2022

(D) 4 fga=z, 2022

The most important contribution of ICT in the field
of education is '
(A) easy access to schools

(B) easy access to learning

(C) easy access to teaching

(D) easy access to workloads

foan @ éz 34 o @1 wad weayf diem ¥ -
(A) @l 4 q7a yia 1

(B) faan a% wea yiu ~

(C) 1aaw a4 gra R o

(D) @i a% ww@ giw &

6 .
‘9 with Social Justice and Empowennem depa

&

: 58

$ . G

of the following scheme js j, .
dena i

' I
Government of Rajasthan? Me,

(A) gwadhar Grah Yojana

(B) Palanhar Yoj_ana.
(C) Shubh Shakti Yojana

(D) Navjeevan Yojana
F q A G TH AT T
e =g Tl a&xzﬁrﬁwﬁrwmﬁwﬂﬁﬁ

How much assistance 1s provided
Mukhyamantri Kanyadan Yojana?

STl & 7

(A) 31,0007
(C) < 1,00,000

(B) < 21,000
(D) < 65,000

First cotton mill of Rajasthan was "The Krishna i
Limited', which was established in -
(A) Bhilwara (B) Beawar
"(C) Shahpura (D) Kishangarh
R @Y Yed o BusT e ‘g o fie
41, 9! TYAT & T3 AT —
(A) HiwareT (B) =&m@X H —
(C) smegu A (D) Regre &

The 'Gurudwara Buddha Johad' is located in
-district of

S9

(A) Jodhpur (B) Ajmer
(C) Bikaner (D) Sri Ganganag¥
ToaTT g Siles’ Ry & Rera 2
(A) g, - (B) o1
(©) drt (D) & TR~

. "
According to RTE Act, admission of childrf”[

particular class has been proposed to be on the
basis of -

(A) Education of the parents
(B) Socio-Economic statys of the child
(C) Age of the child

(D) The ability of the child

mmmamn‘aﬁhﬁw%aﬂﬂﬂ@f
ST qedl 1 A Ry amemd T
TR 7 |

(A) wrar-fer &t frar v

(B) aﬁaﬁqmm_mﬁaﬁ,/
(C) @ed &l 37 )=

60

é
LR fd;(

| Coﬂ‘dr'



Rajasthanjobportal.com”

Qualification for appointment and terms and
~onditions of service of teachers is mentioned under
of RTE.

Eﬁ) Section 24 (B) Section 25
(C) Section 22 (D) Section 23

RTE & fere @ gt & 01T araamd, ardand g dar
o Frertfia & -
(A) E]T{T24'ef
(C) qrr 22 |

61

(B) o125 9§
(D) T 23 ¥«

n which year's budget announcement, it was
proposed to convert government schools into
Mahatma Gandhi Government Schools (English
Medium) in villages and towns with a population of
more than 50007

(A) Year 201920  (B) Year 2021-22
(C) Year 2020-21 (D) Year 2018-19

frg g &I gt 9N § 5000 § it SrEre) arey ial
A B H GO Thell Dl e T GBI el
(3Tt greg™) H 9o bl W @1 T on?
(A) a9 2019-20 (B) 499 202122~
(C) a9 2020-21 (D) @9 2018-19 =

63 Ardeotis nigriceps 1s a -
(A) Bird (B) Tree
(C) Reptile (D) Mammal
TS T & —
(A) T&l-~ (B) 9&°
(C) wigy (D) &WaTd

@ Under whose chairmanship the Review Committee
was established in 19777
(A) Dr. Shramannarayan
(B) Dr. Abdul Kalam
(C) Dr. Ishwar Bhai Patel
(D) Dr. P. D. Shukla |
1977 ¥ gerdyeor w1 waman fhge aregeran o
s @7
(A) =l ga=maaT
(B) =1, arege &wed
(©) =, dga7 Wi vea
(D) =, 4, &1, g

65 In which, city was the world sufi music festival Jahan-
E-Khusrau held in November, 20227
(A) Jodhpur (B) Udaipur
(C) Alwar (D) Jaipur
R yreg & e e Tgfore hfted STET-0-gw @
Ao v, 2022 W fpar T ?

66

67

68

9

(A) Srege (B) S&d@yl
(C) " arsrere (D) A3V
P3] ¢ /

Ifx:y=3:2,thentheratioof -7/?" 8

Dx? +3y2 : 3x? —2y2 is equal to -

R x: I
Xiy=3:12, @agud  2x373X2!

2x% +3y? 1352 =2y TR ¥ - 184 (-,

Y 3 © t
(A) 5:3 (B) 27:19
(C) 6:5 (D) 30:19

The value of \}5+J1 1+ \/19+\/29+ V49 s

—

5+J1_1+y/19+1}29+;f@ & A &

2
(A) 377 (B) S 7174
(C) 2 (D) 4 & 3
Factors of the polynomial 4J§x2 + 5x—2J§ are - j
TGUE 443x% +5x—2+3 & @S € -
(A) (V3x-2)(4x—+3) : N
(B) (2J§x—1/§)(2x+ 2) y [{JEZ}L{JE ﬂr
©) (Bx—2)4x+3) Vo 2WIN =SS
(D) (ﬁx+2)(4x—wff‘;5/ ‘(J;“ 2—2J3

In the adjoining figure, PS is the bisector of
ZQPR and PT L QR and £ZQ> ZR, then ZTPS
IS -

g9ty & fr ¥, ZQPR @1 &iti PS & @ PT
ug £Q> /R @9, LTPS & —

R

A Jon = 3N -9
(A) 90"—-;-(40 ~ £R) o F
1 -2 8
(B) -2-(£Q+AR) 2 '__uj;
(C) £Q — £R QJ‘?H ! e
D) -;—(ZQ - ZR)
[ Contd...
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120l KA i
\ Y% i four times the sum of its digits,

| 1 digit nu .
When a sum of money is put on loan for 0ne and half 76@ two g} the digits reverse.
years at a rate of 20%, the difference between the £ 18 is add?d t
interest is ¥ 264 when interest is respectively éﬁﬂd
X[,LXB compounded annually and half yearly. What is the by

sum?

f‘—‘W ﬁﬁﬁé%iﬂ“hﬂﬁéﬁﬁ%ﬂmwmmt %m%_
W & T W s am o A e TR 264 " & (B) 48
4” 1 e b1 ua R R 7 (A) 24/ (D) 36
YO (A) T 20000 (B) ¥ 18,000 (©)
7 C) T 24,000 D) 22,000
. "~ 77 Mode of the data 15, 14, 19, 20, 14, 15, 16, 14, 15,

96660 - - - 17, 15 is -
71  The present value of a lapto is T 6561. If its value 18, 14, 19, 15, 17;

& e& decreaséé{{very year by 10%, then its value before :
R 3 years Was - 15,17, 15,1 957D & ~
- o v R g T 66 AR A | Ay 16 (B) 17
4 & el A EgFTm AW E R A -| () 14 (D) 157
S (A) <2000 (B) T 8,000
€ < 10000 (D) 8,500 @' e price of diamond is directly proportional to
72 Which ohe of the following is not a real number? square of ts weight. A diamond broke into four pieces
: Prefiia Y @ 2 @ U TS 66 T 7 0 the ratio 1:2:3: 4. The broken pieces got sold
7 9 e~ o ™ in Z 2.10,000 less. What was the actual price of
} “1\2 diamond?
(A) ‘G) (B) -4 ﬁ’(ﬂﬁﬂﬁﬂﬂﬂ“ﬂ?ﬁﬁﬁﬁgﬁﬁﬁimﬁl@ﬁﬂ
;éf - qR AT A 1:2:3 ;4 % T § 2 11 g §UIHS
© =) D) 32,10,000 7 ¥ 3 T S B N ATEAH I
L) V2 & ar?
:’ h . (A) 30,000 (B) T 2,40,000
73 Decimal expansion of ("'*"] 1S - (€1 3,00,000 (D) < 3,30,000
- 2 3
=
_]_+l ;Jr . . :I\ffo numbers are in the ratio of 2 : 3. If each number
O 3 SERE = 1s increased by 4 the ratio becomes of 5 : 7. The sum
& }‘ - ;) —_ / of both numbers is -
5’“ 7 (©) 0237 (D) 0.55 < HEA 2 : 3 % orgura ¥ ¥ 1 AR e e 4 @ 9ol
T WA T I S 2 7 B e
7 Bl ST € | S ST 1 AT @ -
. ) . — . (A) 36 (B) 24
74 Fraction representation of the (,1254 1s - ) 2 b 2—‘-'1
0.1254,7 fir= freqm & - \t’ Qo
A) 1732 (B) 12545 C@) ;Fh; square-root of a natural number is n times of its
*(} 1653 '——'1 00000 ubic root: That number s -
A, QPN s (D)/69 / ?wm?mw Wmawmr“ﬂ"%ﬂ
\ H oL _
\ 55%) 550 W s =Y Y e
L) ) | (B) n'<
75 The meanrof first seven observations is 18 and mean . (D) n 5 })
of last geven observations is 20. Find the seventh Z_ '3" < |
.\j\ " obsewa;igg it mean of all the 13 observations is 19. Tlu:ee “”mb_efﬂ are in the ratio 2 : 3 : 4. If the Z:un of
/Q G% yam Vﬁﬂm mi 18 % an afad ad dao thelr C“bfs IS 21384, then the largest number. is -
L qreg 20 I *ﬁﬂﬂﬁlﬁﬂﬁfﬁ'{ﬂﬁmﬁﬂﬁﬂuﬁﬁ %H@NE:Z&:J%G ¥ &1 aft o way T
N . TT"H EF‘ﬁ &l 6
qreg 19 A 21384 8, a v qe) e b - y ;
- (A) 197 (B) 21 (A) I8 B (B) \//& WV
%; (C) 15 L ) 17 Ljﬁ © 36 N N Dy
- T f)/ /
IP3 ¥l o\ '- Lo
‘Y‘) ] $ (a\( % d & ?)( . ()/(lvza ?\ ’ [ Contd...
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82 The probability that a number selected at random

7/;31‘

from the number 21, 22, 23, ..., 40 s a prime | | e value of k the following system of equation
imabos b have unique solution?
gem 21,22, 23, ..., 40 § ¥ U Gom angheg sy | KO 99 AW § fg Pt aia e @ op
T B W Th AT G BN B ity & - e 7w ¥ 7 ‘/ly
1 1 2x + 3 —
® % ® p+3=0 <o
/ 1 kx+6y=7 r&’ @J.
O3 (A?;-vjf # -4y () k=14Y ﬂ,/ }‘_ﬂ”’
A and B have some apples. If A gives 2 apples to B €k =4 r’ (D) k # 4/ » 6
then A will have apples half of B. If B gives 10 appleg 44 4/7 Y ?q /r
to A then their number of apples will interchange. ‘3\/\2—2 [? + St
How many apples does both A and B have? @ (_I_};GOS) -(13.392)" =7 ”r ff_i
ATNBH UG BRI RITR A, BR 2dqdqar| (A 1.8 (B) 2.6 | S
A% U B T g O k1A B, A 10| (O 0.06 (D) 0.6 L
<A © T Th Fa D HE o ¥ a5 Wl 1A we
B & UG el Tohal 99 & 7 Ll 0 89 If n-i§ a natural number, then (921 - 42n) js always SV\
Eé; f}}% [(‘Bﬁ )"Lf divﬁisihle by - l Y » aﬁe‘—‘
2 . (D) 36 o |+ (A)Only 5 (B) 5and 13 Y _——"7
1 g6 3 )1 (Cii nly 4 (D) Only 9 (© -
B : 2n _ 42 ”
84 = of 3842 + 15% of x = 2449 then the value of x Ts- ?Iﬁi;n‘ﬂﬂi Vg e b, @ (98- 470 ﬁawa?l ~16
2 Do 28 AL (A) 3@ 5§ (B) Swar 134 M
(92 | 5 | 2~ (C)- i 4 D) W98 g9 R
3802 T 7+ x N 15% = Yo xar i t - ~ T3
0 i (B) 3540 1% Q<2 190 A student got 32% marks out of 300 in sci!:ndle )
(CY 3520 (D) 3250 le 3B . subjjects. How much percent should he score
L2 literatdre of 200 marks to make his total marks 50 (
In the adjoining figure AC = AE, AB:Bg AD and w et ¥ e gt 300 ¥ § 32% 3t mz,'-{ '{?0
— 1 ha.é . ° ' G
£BAD = ZEAC, then BC s - | i ¥ T 200 o ¥ 3 Pt whvera e ey 2L
id a fas 7 AC = AE, AB = AD quT E?fﬁr?lTﬁBG'@{@Trr 50% ajes frey ? 5“)__50‘3
£BAD = ZEAC, T BC T \ €52 0 (AY-T8% ®) $2% IR
A NG R 5{ L2 (C)’:W%/ . (D) 72% \ M
g g 91 Thefractional representation of 45 minutes wﬁ‘/ﬁge/o
da}ff‘is : (H A ‘e/
L1 fip i 45 e o Rt ey 3 -3 ;o |
u‘a s il *
% (A) “““““ i (B) —L _ 35/
) w40 60 ( bﬂ“ -
e .
| / | » |
PR guY A0 (D) — ? <y
= B D ¢ / 4 3 0
(A) DE (B) CE+TFE st oa 6 AN 4 %%
(C) CE (D) DC +CE . 2{ . Factors of (16-x"+2x%y _ y6y'are .
: f the base of 10 m high € b 4 93 _ 6 .
Ty s ot cams x| (8642675 Byt - 0 g )
" in makin% the -tcﬂl? _ El?[ qﬁﬂl 44 fet A?St -y +4)(_,1‘ +}.3+4) .
g ot m?m FanE? B)(x’ + y* +4)(x" + 37— 4 ""‘“‘Xi/
% 3| ¥z @ g § 9K L ) &2-%
(X
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@[f t]‘l. sum of the zeros of the pﬂlynomial @
e .
(ka _3y—6k) is equal t0 their product, then the

value of £ 1S -

' afy agae (ke —3x — Ok

j%sﬁaﬁmmmﬁiw

kst i AW
(A) 2 (B) -2
| ) 3 o
)N _
(&~ oA L fnigu

-iiif_zf-Tx\fo adjacent angles of a parallelogram are (3x — 4)°
and (3x + 10)° then the smaller angle of the

/

.10 |

Alcoholic csrmentation which occurs in yeqg, "
C .

following reaction
nyuvic acid _ A__) Acetaldehyde
‘ B

> Ethyl Alegp,,

A and B enzymes involved in the reactigp i

espectively — _
l(-A)p Alcohol dehydrogenase, Pyruvic decarboxylaSE

(B) - Pyruvic decarboxylase, Alcohol dehydrogen.
(C) Lactate dehydrogenase, Decarboxylase

(D) Succinyl thiokinase, Alicohol dehydrogenase
Seiete frvet o A & R ¥, F Pt
afufean Bl ©

paralleogram is - 258 uTgoiddh 3T __i_) Qiﬁ%i%gﬁlsg
& §HAT age & A A= BT (3x — 4)° qun - R §
(3x + 10)° ¥ O GHIIT IgHS &l BT DIV & — > TS Ueblern
(A) 97° (B) 106° | , affear § A9 B TIEH A § -
(C) 83° (D) 89%° - 5 U6 = (A) Ueprer feRevme, qrEsiys Saeifmas
L Gwee | B) el famitrac, dwhera Remsifnm
95 Read the histogram and find the number of stude EC% AT %ﬂﬁrﬂ:}lw %’?ﬁlﬁﬁﬁmﬁﬁ P
whose pocket allowances are less théﬁ T 40. (D) wfrafe EIIT?I?EI'S-;-‘IT:[ Qﬁﬁﬁ'ﬁ %E'E?'i;fﬁelﬁ /
SIS B Tel S 37 frenf¥iat &t e s ) R iy
'5}_ ST @d W= 40 R S SR 98 Z\Q;en pressure 1S 1irncreasreﬂl,, the melting point of ice
: by AL o rémains unchanged
)’_ Q’k"‘f) .I_Lg_td-‘ﬁ =14 (B) flrst decreases, then Increases
9/ 0 + . 9“,’:,;31:1& oy ~o Eg)) Increases
o ,- decreases , ;
_ !o ﬁ | - ; ~lo = |
3\: F l‘%’ 0 51’*{,}'8HA{F @ | ?:)meﬁm? & T = B T
s 2 30 g 197 % %ﬁ?ﬁr%ﬁmm%
% Z 20 (D) ¥ & e
Q E [- 2% 10 : . s deel of an atom, Which of the following
9 IS an integra] Multiple of h/
9‘ 2’3‘& _ (A) P()tel’ltia].‘ene 0 27?2
| 0 - (C) Kinetic 8y (B) Angular momentum
40 60 30 100 - . _ el’lm'gy ;
i 17 Pocket Exbens o Ay Eﬁ-(gsmﬂ < ¥ (D) Radius of an atom = -
= Mﬁésaﬁ“ ; TE o gy AR & & e h/2n
| ] 14 _ (A) ﬁ?.]'ﬁ]q - | &
N :
o (A) 30 y, B) 40 SOBUITE R Eg; @lﬂﬁu?};ﬂ/
] é)“\Lj (C) 20 (D) 10 (@ What is formeq wh
- hydroxide? "HeN Zine reacts with sodium
— . ~J0  White blood cells which have large 1, (A) Sodium zjne Oﬁ"d
? é 17 nucleus and are phagocytic are .~ o0 Shaped (B) Sodium Zincat 'd¢ and hydrogen gas
(A) EOSinOphi]s (C) Zine h A€ and water
(B) Mono ydrUdee :
<Y (C) Basophils (D) L. Cytes (D) Sodium Zincat onc sodium
l X vy e dm % g A Gmymphf’cyles R & Dy ey, 1 grydmgen gas
w;ﬁlﬁmqﬂmﬁﬁ%,%%_ 1A e e 2 ?:?T%? _ S e T A
(A) zonfeifpe PN 2 SRR
: , (B . : 30}
i © ¥WRer .| o) SRR gy |2 (B) SR Ridy gy e OSSO
g N (D) i (©) % Tegiegs qen <y
VEB] $ -I ERRE (D) & Ridhz quy 5
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101 Which of the following is not a‘nqn-contact force?
(A) Gravitational force(B) Friction foyce
(C) Magnetic force (D) Electrostatic force

P & § B9 oTgmd oo 7ol & 7

Farmers neutralize the effect of acidity on the soil
by adding —

(A) Caustic soda (B) Baking soda

(C) Slaked lime (D) Gypsum

feraT e WX arciar & W @l T et Ierde
H{d © !

(A) SIS A1
(©) gmgan gL (D) fram

é.
103 Water reabsorption from the distal pﬁ?}f the renal
tubule 1s under the control of which hormone?
(A) Renin (B) Vasopressin
(C) Oxytocin (D) Angiotensin
e iciehl o S W1 ¥ S BT GAUanvr 6 g
oA sar g ?

(A) T ;E

(€) 7/
104 An electric fuse works on the following principle of

(A) Lighting effect of current

(B) Heating effect of current

(C) Chemical effect of current
..(D) Magnetic effect of current

Ts fagd v B 7 @ e e wad s &7
(A) ©T0 & I e U
(B) 4 & qrdrg wHrg qx
(C) «r & TEAI-h T X
(D) o & g 91| 1

A car is performing circular motion with angular
velocity 27 rad/s. Its time period will be :

UF H gATHR T T €Y ¥ forgat soig T

21 rad/s & | ST A B B
(A) 0.5 sece (B) T sec

(C) 0Dm see (D) 1 sec

@ Above the surface of Earth, a geostati::mary satellite
is placed at a height of about : |

ged &1 waw ¥ I T4 Faré q ugh ey SIUE @l
i fpar s #
(A) 30,000 km
~(C) 20,000 km

102

(B) 36,000 km ~—
(D) 26,000 km

107 Which of the following does not belong to natural
polymers?
(A) Rayon (B) RNA
(C) Cellulose (D) Starch

Frefofag & & & a1 Tpfye agas ol © 7

(B) st (Y are) W

y

112

113

11

(A) WA~ (B) X TA T
(C) Hga (D) ==
IP3 ] $

108 Universal blood recipient blood group has which

110 Zeroth law of thermodynamics is related to :

antigen and which antibodies respectively?
(A) Antigen A-and b antibody

(B) Antigen B and a antibody

(C) No antigen and a and b antibody

(D) Antigen A and B and no antibody

| e BT wge & st @ @ g 3 wRieE
B & 7 .. -
(A) A ufererr 3 b ufreeh /)7 % ¢
(B) B wfte alT a gfereed

(C) &I I yiee &1 3T a g b wfereed: 9’%

(D) AanﬁmaﬂTaﬁs‘%ﬁm‘{ﬁrﬁ/@'g JE

Which of the following belongs to a homologous
series of alkynes? :

Frafaflag & ¥ @I Teblzd @l To a9 @ 9

Haftg & 7 A .
(A) C.H (B) C.H v)—
(C) CiH, (D) CoH, . C”'\ 1Y

”

Ly,

Y

(A) internal energy  (B) temperature

(C) heat (D) work C

SHNTIGS! &1 T Fram gt & }1 6.172' k{

(A) =it ot 9~ (B) Qe § 2

(C) &1 ¥ (D) @ FLr & Q//
/

Which cells of intestinal mucosal epithelium secrete
mucus? —
(A) Peptic cells (B) Oxyntic cells =

(C) Chief cells (D) Goblet cells

TS ST IUHAT DI DI Gl BIIHT AT B AT

(A) Ufes HR@T (B) st i@
(C) g&a ®iiydrd (D) Tiiseie Hifdrdd —

Cell wall of algae is made up of g
(A) Cellulose, Pectin and Protein

(B) Cellulose, Pgptidoglycan and Pect) /C:E—
(C) Cellulose, Galactans and Manna_r}st:]

(D) Cellulose, Hemicellulose and Proteins "C
S o aven e et ,, (= C

(A) g, T AT b
(B) dgeior, UeTgeragd d YA | -

(C) Jgee, Nagea a A g &
(D) Jqere, THAYAT a W 8

Which of the following has the highest inertia?
(A) Car ‘(B) Truck

(C) Cycle (D) Scooter
P & 4 Rege Ss@ 999 S91&T BT 7 (
(A) BN (B) & qj\
(C) Rt (D) Elz?_'{r)/ v
% [ Contd...
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When sulphuric acid reacts with egg shell, which gas

i juced? L
Is proguces oxide (B) Carbon dioxide gas

.L 1 _
(A) Carbon mof ‘D) Nitrogen gas

of Plaster of Paris 15 —

A & G E T

119 Formula

@l 3

Q C) Hydrogen gas
< \(—rm)u?rqiiﬁaf i, 3198 P ’@"'ﬁ;’; A sifyfean FT(E, y, 1
} it a @ W g I EC ' cy 1 07(D) caso, = Hy0
l Ay wrd e (B) g sgeriaargs ge]  (C) 250473 T VI
o (C) gTggIo 19 (D) AR L
W]IS The animals have different excretory structures.. 201 two resistances arc of equal 'values 6 Q are
,) h.#[;“ch the excretory Sirllc[[[rcs W’ilh the ﬂﬁ]n]ﬂls a!]d_ = CO]]”ECth n pa[’ﬂ”ﬂ], then the eqlllVﬂ[Ent I'ESiStanC&
then choose the correct option : I(\] will Ba:
Animals Excretory Structures g & a6 Q F TR FHEAL ¥ F0 W
| Planaria . Malpighian tubule | P %/‘l JZ
3 2. Earthworm b. Grcen.g!aﬂds - g ar STl g 20
3. Cockroach C. Nleth'd"'i‘l () (A) 9Q (B) - A
4. Prawn d. Flame cells : (D) 6% o "‘3
aﬁaﬁﬁﬁmwﬁmmm%m@aﬁﬁ ) Qe S
w S o A e RIS isd i. Y t—ll 121 The highest number of atoms is present in
g oL PR e & gaifud dE | SqRed g & —
1L R - A AR L (A) 040 g Ca (B) 12 g He
] 2. @ b, s dfwEl (A=) (C) 4 g He (D) 46 g Na
~' 3. WBUY c. gahd -
) 4. WH i e aRmd |« oi] Armstrong landed on moon for the first time in:
4 (A) 1-d, 2-c, 3-a, 4-b (B) 1-c, 2-a, 3-b, 4-d (A) July 1970 (B) September 1970
(C) 1-b, 2-c, 3-3, 4-d (D) 1-d, 2-b, 3-a, 4-c wh (C) July 1‘3’!:5:;5'6?’?r W(D) ;:f{tzmber 1969
| TG g Al 91 :
116 The energy possessed by a body of mass 2 kg '«zvhgp‘__i T - 19701}'/?”?8) : 1070 3 =
it is placed at a height of 5 m above the ground will (A) T _ |
be (g = 10 m/s?) S (0 weE 1969% (D) fwww 1969 7
wzkgmﬁﬁﬁﬁﬁ‘faﬂﬁm#ﬁ,aﬁﬁJ 2 |
el F 5 m & SO’ T @M T & (g = 10 m/s?) 123 Non-membrane bound organelle found in both
7 é (A) 150 (B) 200J ] eukaryotic as well as prokaryotic cell is —
N (C) 50 (D) 100 ] V4 oy  (A) Ribosome (B) Golgi Complex
¢ )/ Yo (C) Microbodies (D) Lysosome
~ 0 \ﬁ7 KW&ShiOI‘kOI‘ disease 1S caused by deﬁciency of ) mamﬁmﬁ ﬁwwﬁww
\ rg’r . (A) Iron (B) Vitamin <t R 3hTE & -
1 (C) Protein (D) Iodine vt W e
-'?a{! FATRTAIREIT TT Rega! wHT  Bial & ] . 3 i; Eih_] | y (B) Tl w2
~ (A) e (M) (B) faaftm - (©) R‘p (D) W
C) wreH I IEIR C
(© ol (l?) 124 An active ingredient in bleaching powder for
{3 118 Which among the following are examples of diseases bleaching action is —
' caused by bacteria? 8 frter foman & forg Rrisres ot § Qihd H9<D -
3]' B?E;?;gria 121 ?th I L) (é) SHCIQ / (B) CaOCl
t - ctanus ’ a(OCl
Choose the correct option : i R (D) CaO,Cl
| Eé)) ?’3?1 ;”2‘] 4 gg; }, g,af; ;u;d 4 Y‘“‘j 125 “tfhlch of; the following polymer is stored in the liver
] , ’ v of animals?
i f:lﬂ 54 Gifmlﬂlﬂ Ad T & ISTET9T B ﬂﬁ({ s A UN (A) Amylopectin (B) Glycogen
y 3. A% 2, g UT (C) Amylose (D) Cellulose o
Hﬁﬁaﬁqgﬁ-& 4. R ﬁ:“"'ﬂ%";ﬂ?ﬂﬁﬁaﬁ?magaﬁaﬁaﬁ%wﬁﬂﬁﬂ
' T&dl
(A) 2,334 '
©) 182 ([B)) ,2,3 3l 44 (A) THIANYFRS (B) TETEHIAT -
(D) 1,2 8t 3 (C) smmaeTE (D) ¥gerE
IP3 ] $
12 [ Contd
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126 "Teaching strategies should help students to acquire
new elements in their cognitive structure”. This is a
learning view of
(A) Cognitivists (B) Constructivists
(C) Behaviourists (D) Objectivists
“Rrgror Rl g BTl @) @ GEETeTd WlE |

U d UG $ ¥ ¥ag frer ifsgl”’ 98 fhd Iurm

&l fagra & 7 Tf'
(A) aMI&®H~—"  (B) Tg7ENRI (Lj
(C) amﬁ’u(a (D) Ffrard - t )

127/Advantage of using ppt in teaching mathematics is ¥
(A) Facilitates effective way of communication v
(B) Choose to create your own design or use’f\]

existing one
(C) Presenting outlines of information in a | 131
sequential manner i
(D) Create a huge gap between reality and’}")
perception 18
T f¥eror § ppt & w@T @B @ @ et

(A) OR & YHET Tl @) giayr & r_;_!
(B) U T T ST ST AT HISTET BT S9aIT &
(C) HHEE e § A& D TILET TKa FEAL L
(D) arsiaear i SO & §I9 987 &< §9M1

128 Which of the following is not a problem faced by |
teachers in India? (1)
(A) Unbhealthy financial conditions of institutions L{ )

(B) Positive attitude of management towards<{j?
development of material resources o=
~+ (C) Traditional curriculum and teaching methods _ ]
(D) Lack of feedback mechanism
Rrefoaa & @ Pod awe &1 QT S et ar |
Tel AT 5ell ?
) G @l waei o Rafq 132
(B) s daTaHl & famE & R yeeas & ()
HHRTES gRedT,/ L)
(C) mmﬁﬁtnaﬂwahmmﬁﬂnﬁ'y Sl
(D) wfagfte o= @1 &Hr v
3 T
129 Mathematical magazine P (IN]
(A) provide context for theorem - proof.
(B) focuses explicitly on mathematics rather -
than pedagogy. d)
(C) is a publication for maths teachers. ()
(D) a CO”eCtion of prOblems Of mathemaﬁcs_ L ‘)
TG g & 3
(g) TG YT B % Rg e o -
(B) Tenser & a9 O vy @ whrg v ggm o)
SiEd BTl L (N
C .
((D; ‘T&‘HQTW % f79 v waprrr
MV & Harl &1 T gy \e
I
31 $ 13

130 Most students with mild to moderate diSﬁblIltl@S have

factors that impede learning.

(A) Social factors %’7{\’}-70
SP a

(B) Cognitive factors
(C) Metacognitive factors
(D) Motor factors

IR & e RyaeiTan el SIS BrE | g
FTH drgy & 9 STed ¢ 7 [34°
(’J'Lo 3,3’?""’"
(A) g BID ”13?2’_ ,//’/f
(C) WSTIEE FH 0° —

Js

* T
After diagnostic testing, it was found tat Meenal is
facing learning difficulties due to the lack of interest
which form of remedial teaching should be ado t;??
(A) Informal Teaching Mﬁ

\,
29
(C) Class Teaching ,5/_\0
(D) Individual Tutorial Teaching 9
Y HioATg B Bl BV SHA BT Bl FHG qUT TI&
TG @l STUaear & | Udr RUfq H IU=miee 1318707
(A) ST fireo ZJD(O
(B) @i frawr ¢ /
' ch

In science class, after watching an educational
programme on T.V., teacher have a lively discussion
principle is used here for effective use of teaching
aids? g 3 & L
(B) Principle of Selection
(C) Principle of Preparation
fasm @ @en ¥ AL W mmﬁ@%%wm
eres arftrmt SReal ox e aaf & @ e ead - g
Aol &y Sy & fag el Frefatad § ¥ 159
a1 &1 IumnT fopar AT B 7 . ’ 57
(A) ST U4 qeaich @l far 20T
(B) uga & foar 2022 0= Yy

(D) fwarE® EEITEEK /@/ﬂw
and non availability of direct experiences. In this case,
(B) Auto-Instructional Teaching
feTTeTe TIETOT & 99T I 9Tl T4 b Hiel bl diEH
% fehe TY I YT ST 1Ry 7

YA

2~
(C) et far8or V2 . \ I\
(D) =afrrTd e Ruaw " - ‘5&
over the learning objectives. Which of the following
(A) Principle of follow up and evaluation
(D) Principle of Proper Presentation
=

|
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133 In day to day life, diffe

»@{Wﬁrﬁmﬁlﬁ'ﬁ

134

. Pt & & i @ wn w5

135

3] $ o
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rent people observing the same
tly because of the different

event but report it different’) IS
f constructivism is this?

world view. Which type ©
(A) Cultural Constructivism
(1‘3) Cognitive Cnnstmctivism
(C) Social Constructivism *
(D) Radical Constructivism

3P v & aqer_are R 0@ B T @ 2w ¥
AR T fard, faga-ghte ¥ PHETT ER & e
W—maﬁ%ﬁaﬂﬂm%lﬂ?ﬁmmu G

a7 L e
F

(B) GEMIHd {@AER
(C) |G (AR -
(D) Hifeie @AER

Which of the following is not the merit of Problem
Solving method? ... « .o FECE A aslneg |

(A) Helps in development of scientific attitude
(B) Training in scientific méth(_)d

(C) Time saving method i

(D) Learner-centered method

What type of test are used to judge the students
language expression ability and organizational
ability? L: -

(A) Short answer type tes

(B) Oral test |

(C) Objective type test

(D) Essay type test - = . Ly
PrenfY @ s Sf¥Tefert g 9 EEHIeTS drvdT
o1 el T % R P YT & e w1 ayg fan
e § 7 o

(a) e vt ¢ B
(B) t?rﬁﬁ'ﬂl’ﬁ&m/!_ RN |
(C) aegfrs qliEm . :
(D) P Tl

136 Formula of Education

137

138

139

140
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(C) Law of Readiness (D) L

al Quotient is

Chronological 282, 10

(A) Mental Age

Educational AZE__ 100
(B) ChmnologiCﬂl Age

Mental Age
(C) Thronological Age

x 100

Mental AgE
(D) Educationﬂl Age

s cifer ST BT B

Mx]OOKf
AT 3TY

x 100 y 'l

(A)
(B)
(©)

(D)

Which of the following is the direct method of

adjustment?
(A) Repression (B) Projection

(C) Regression (D) Substitution of Goals
Sreffad & § @I G @IS @ qede T & 7
(B) W&

(D) e @ whrem”

Which is not the element of creativity?
(A) Originality (B) Memorisings

Who gave 'Mental Age' concept?
(A) Cattle (B) Stern
(C) Binet (D) Thorndike
qHRT® g’ H TG e — <
(A) e ) & v
(C) fm (D) die1Ed o

[n which primary law of Thorndike, property-of trial

and error is demonstrated?

(A) Law of Effect.  (B) Law of Satisfaction
aw of Exercise

HHeEH & DA ¥ WUt ¥ draw @ ga| @

e fafyr &t =amen o 7 ¢
(B) ddra @I Fad

(D) =T I
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3



143 A childs

(D) e AT 4

144 Match List-] with List-

by choosing from the codes given below. :
List-1 (Authnrs) « List-Il (Concepts)
2. Burt and Vernon . General and specific
11 factorst
b, Spearman 2. Hierarchical theory of
. Intelligence
c. Gardner 3, Triarchic theory of
~ Intelligence
d. Stemberg 4, Multiple intelligence
. 4: itheory |
W—lﬁ@-llﬁﬁmmﬂmﬁ%ﬁqmﬁ
51 TTEN T FU eI T A A DI
il () T ()
2. T . F e fegry @I
. 72 g g R
c, e \J?\ 3. gﬁgq,-l-;ﬁammﬁ
d. = 4, s

Code / 2 :

(A) 3-3, b-4, 0-2, d-1 (B) 3.4' b"31= 0.2, d-1
(C) ‘d-l, b"'}, 0'4, d'2 (D) 3-2, b_l, 0_4, d"jl/ﬂ

IP3 ] $
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11 and select the correct ansWer

149

145

146

147

| 148

150

All human contains S
GRS

gt e |
(A). 23 ®) 46v"
€y 22% (D) 44
device B
When data | transmitted from dewcef‘-":to , é
lhe1£;:::ac?e: ;‘iom A layer 9 is read by P¥ _ /Q{Z/)
layer '
(1) Presentation ?’ Z- f i
(B) Transport 3 I /9/
C) Session
D Physical |
;a)%ﬂ%ar{HAﬁBzﬁraﬁrﬁﬂﬁﬁmw%@l%a
Aésﬁfm,ﬁm%faﬁwr, SEE
qa @ el \ ¢ L{
(A) BEEAll '(Presentatlon) 5 g
(B) g (Transport) |6 i
(C) e (Session) fon i T ¥
(D) fpairehel (Physical) l g |
o iy T
<o wallet was released 11 - . '
B1tcgm il ﬂﬁf - g
(A) 2012 B) 2014 /0 ] \
(C) 2009 (D) 2011
In ma.thematical term Table 1S referred as : 2_ i/ 3
A Attribute (B) Tuple
o pe (D) ‘Domain ?]7(7’ C.

(C) Relatiun 7 y .
qfﬁliﬂﬂwf(ﬂm (Table)azﬁﬁﬁ% J M‘J

modem is called connection -
(A) Digital 24{5’5’
(B) dial up

(C) Fiber optic | 802
(D) Dish™ —
ﬁﬁmﬁ@ﬁé’q;ﬁrmﬂmﬁEWsﬁaﬁﬂ

_ e o

(A) feferea (Digital) 2 |¥®0
(B) =@ a¥ (dial up) _—
(C) wgav afifes (Fiber optic) i 44 XS
(D) fear (Dish) Yoo
Which of the following e-wallet app is offered byl
(A) PayZapp (B) PhonePe

(C); Paytm ¢ " * D). BHIM
ﬁﬂﬁiﬁgﬁﬁﬁﬁﬁmi"ﬁﬁ?&qqaﬁmmaﬂ
foneT T & 7

(A) ﬁﬁﬁ (PayZapp)(a E‘Bﬂﬁ%ﬂf{ (PhonePe) ]’% g
(C) W'(Paytm%z (D) ¥ (BHIM) 2
AL 0 2

:* ’_ PE 2/% | COntd__‘ i
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